SHIFTERS, LINKAGES & KNOBS

[ eft-Hand Shifter Conversion

-

=

160051-A polished shifter knob o

SHIFTER, LINKAGES & KNOBS

e

(the original factory accessory)

No. | Part No. Description Year
Knob: Polished aluminum with
1 | 160051-A antiqgued Indian head insert all

Note: This shift knob Is a reproduction of the original

with a finely detailed investment cast insert. A true work of art.

Knob: Stock, black,

- 41243 bakelite (std factory issue) al
3 605012 Nuts: Jam,3/8-24,ss,5pk all
4 85983 Lever: Shift, left hand, chrome 37-53
5 22B202 Spring: Shift lever 37-53
6 538012 Key: Bell cranks 37-53
7 | 40945 Shiftlovr (on lever) 37-53
8 922008 Washer: Split lock,3/8,ss,5pk al
9 606012 Nuts: 3/8-24,ss,5pk al
10 | 920008 Washers: Flat,3/8,ss,5pkK al
11 86916 Lever: Shift, right hand, chrome 37-53
12 | 636104 Cotter pin: Shift rod,3/32 X1/2, 5pk 37-53
13 [920007-AN Washer: AN, 5/16, bpk 37-53
14 | 722003 [Rod: Shift, left and right hand, chrome| 37-53
15 | 722003-R Rod: Shift, adjustable, chrome 37-53

Note: The Kiwi adjustable shift rod is designed with Heim
joints at each end to eliminate sloppy shift mechanisms. This
provides nice smooth shifts that also allows you to adjust the

shift lever to the ideal shifting position that you like.

40945 [ eft hand shifter bellcrank o

To be used with foot shift

Note: The Kiwi foot shift and hand clutch conversion must be
used together as a set.

16 | 556006 Bellcrank: Trans tower 37-51
Bellcrank: Trans tower,
17 | 556017 reverse shifting pattern 52-53
(1st gear rearwards)
Spacer: Bell crank, to be used with
18 | 801023 556017 bell crank 37-33
— | 85983-FS Foot shift conversion 40-53
— |85983-HC Hand clutch conversion: 40-53

SHIFTERS, LINKAGES & KNOBS

86

MOTORCYCLES



